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Don’t be distracted from your goal of finishing 0”’% just one more time.
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Rav Ashi was having this conversation with the angel of death. “Just give me 30 more days so that I can
finish all of the Talmud just one more time.”
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Hello, I’d like to have an argument. -Monty Python comedian
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Abaye wants to suggest that there actually is an argument.
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I’d Like To Have An Argument
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Abayey though it was implied in Rav Yosef’s words that there is an argument. Rav Yosef said to him,
“what is the difference if there is an argument or not. Just follow the law in accordance with Rabban
Shimon Ben Gamliel.” Never-the-less Abayey felt that it is important to know that there is an argument,
so that the X3 shouldn’t just be a song that the students memorize the lyrics to.
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Did »ax Ever See a0?

One might think that there seem to be some X3’s that imply that »aX saw 21.
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Perhaps we can say that X297 never saw 21 based on the Tosafos in & 7Y 12 M.
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So if the logic is that X117 *2 must have passed away before 77’3 since when 7717’ died there was no
one left as great as he was from the 2°72n of 21 so certainly 27 himself must have passed away before *
777, Now based on the X373 in 117p that Tosafos quotes you can say that X217 never saw 27. This might
be interesting since "2k and &21 were both young children in the house of 7127 at the same time.
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Yet we are suggesting that perhaps ™K saw 27 and X217 didn’t. So "2k must have been slightly older than
N2
By the way 2K passed away before &2.
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Alternatively you can say that all the Xn3’s that imply that »aR saw 27 are not literal, just like the X3
that implies that X237 saw X2°py *1 is surely not literal.
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